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QUESTION 1

What is one benefit that Airwave provides to customers in the 8.x OS network? 

A. profiling of wired and wireless client behavior and detection when the behavior varies from the baseline 

B. in-depth analytics oT mobile device presence and APIs to make this data available to other applications 

C. a central UI from which to manage all of the Mobility Controllers (MCs) 

D. ability to monitor the status and operation of the complete network over time 

Correct Answer: A 

 

QUESTION 2

Refer to the exhibit. 

A company needs a new wireless solution for its multi-site network. All branch sites must connect to the main site
through 

secure tunnels over the Internet. The customer requires full redundancy for the Mobility Controllers (MC). Including 

stateful faiEoverand seamless roaming for the main site. 

The architect plans to propose: 

-500 RAPS 
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-100 APs at the main campus 

-

two 7205 MCs 

-

two 7210 MCS - one MM appliance The exhibit snows the existing wired network at the main site, which has a single
building with two large floors. 

Following the best-practices on design, performance and security, where should the architect plan to connect the MCs?
{Potential locations are numbered in the exhibit.) 

A. two 7205 MCs at 2; two 7210 MCs at 1 

B. one 7205 MC at 3 and one at 4; two 7210 MCs at 1 

C. all of the MCs at 2 

D. two 7205 MCS at 1; two 7210 MCS at 2 

Correct Answer: C 

 

QUESTION 3

A retailer wants to add a wireless network to its stores to provide guest access. The store has wired POS systems which
the customer will now replace with wireless systems. What is one Important security action that the wireless solution
supports to comply with PCI DSS? 

A. Use test-practice, factory default settings for security settings and login credentials. 

B. Implement TKIP encryption on the wireless network used by POS devices. 

C. Impose mandatory clean up periods to delete records of user access to controllers 

D. Enforce role-based access control on administrators who access controllers 

Correct Answer: A 

 

QUESTION 4

A hospital needs a Getter way to track its inventory Including wireless medical devices that are moved around the site a
lot. Which solution meets these needs? 

A. Aruba asset tags and beacons 

B. Aruba beacons. APs. and AirWave 

C. Aruba beacons and Meridian 

D. Aruba asset tags, APs; and Meridian 
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Correct Answer: C 

 

QUESTION 5

An archinect needs lo plan a Mobility Master (MM) solution for a customer Requirements include: 

*

 redundancy for the MM 

*

 redundancy for the MCS (seamless failover if up to one fails) 

The wireless network consists of 

*

 total APs - 300 

*

 total wireless devices = 20,000 

*

 total MCs = 10 

The customer wants the most cost-effective plan that meets me requirements. 

Which plan for MMs should the architect select? 

A. 

1 MM-HW-5K and 1 MM-VA-1K 

B. 

2 MM-HW-5K 

C. 

1 MM-HW-5K and 1 MM-HW-1K 

D. 

2 MM-HW-1QK 

Correct Answer: D 
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